
Chains and trees

"Refactoring" the full adder
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Compute the OR of 16 input bits.
Then consider how to compute the "prefix" of the ORs.  That is, the OR of in0 and in1, the OR of in0, in1, 
and in2, the OR of in0, in1, in2 and in3, ...
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"Refactoring" the full adder
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Generalizing Propagate and Generate

PropagateGenerate



Generalizing Propagate and Generate

P0:1 = P0 & P1

G0:1 = G1 | (P1 & G0)

Pn:m = Pn:(k-1) & Pk:m

Gn:m = Gk:m | (Pk:m & Gn:(k-1))

Cm    = Gn:(m-1) | (Pn:(m-1) & Cn)
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Number of gates: 2 Number of gates: 3

Number of gates: 2 Number of gates: 2
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Number of Gates: (2 * 8) + (3 * 12) + (2 * 8) + (2 * 8) = 16 + 36 + 16 + 16 = 84
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